Names Meals Beverages

Geoffrey
Hannah
Peter
Samantha
Italian sub
cheeseburger
club sandwich
taco salad
tuna on rye
diet coke
ginger ale
iced tea
orange soda
root beer

$4.90

$5.35

$5.80

$6.25

$6.70

diet coke
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ginger ale

iced tea

Beverages

root beer
Italian sub Prices Names Meals Beverages

cheeseburger $4.90
i $5.35

club sandwich
$5.80
taco salad $6.25
tuna on rye $6.70

1. Hannah, the salesperson who ordered the cheeseburger, the team member who ordered the orange soda and the
salesperson who ordered the tuna on rye are all different people..

2. Of the person who ordered the ginger ale and Erica, one ordered the tuna on rye and the other owes $4.90..
3. Neither the salesperson who ordered the cheeseburger nor Erica is the salesperson whose order cost $5.35..
4. Hannah owes $4.90..

5. Of the salesperson who ordered the iced tea and the person who ordered the Italian sub, one owes $5.35 and the
other is Geoffrey..

6. Geoffrey owes less than the team member who ordered the diet coke..
7. The person who ordered the tuna on rye owes 90 cents less than Peter..
8. Samantha didn't order the club sandwich..

9. The person whose order cost $6.25 didn't order the iced tea..
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